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01 public class BasicStructure {

02 private int data;

03 public BasicStructure(int data) {

04 this.data = data;
05 System.out.print(“0”);
06

07 public void printbata() {
08 , System.out.print(data);

10 }

21 public class TestDrive04_3 {
22  public static void main(string[] args) {

23 BasicStructure basicStructure = new BasicStructure(3);

24 basicStructure.printbata();

25 basicStructure = new BasicStructure(2); SO BasicStructure

26 System.out.printin("a");

27 basicStructure.printbata();

28 System.out.println("b"); m
29 } main T
30 } ! |
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01 public class Constructoronly {

02
03
04
05 }

public Constructoronly() {
System.out.print("1");

11 public class TestDrive04_1 {

12
13
14
15
16
17
18
19
20
21 }

(e

[l

public static void main(String[] args) {
System.out.println("a");
Constructoronly constructoronly;
System.out.println("b");
constructoronly = new Constructoronly();
System.out.println("c");
Constructoronly co = new Constructoronly();
System.out.println("d");

SD: ConstructorOnly J
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01 public class Methodonly {
public void method() {

02
03
04
05 }

System.out.

print("1™);

11 public class TestDrive04_2 {

12  public static void main(String[] args) {

13 System.out.println("a");

14 Methodonly methodonly = new Methodonly();
15 System.out.println("b");

16 methodonly.method();

17 System.out.println("c");

18 SD: MethodOnIyJ

19 }
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01 public class BadConstructor {

02
03
04
05
06
07
08
09 }

private int data;
public BadConstructor(int data) {
data = data;

}
public void print() {
System.out.print(data);

11 public class TestDrive04_3b {
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public static void main(string[] args) {
BadConstructor badConstructor = new BadConstructor(2);
badConstructor.print();
badConstructor = new BadConstructor(3);
System.out.println("a");
badConstructor.print();
System.out.println("b");

}
20 }

SD: BadConstructor )
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01 pubTlic class MethodwithReturn {
02 public int method() {

03 System.out.print("1");
04 return 2;

05 }

06 }

11 public class TestDrive04_4 {
12  public static void main(String[] args) {

13 System.out.println("a");

14 MethodwithReturn methodwithReturn = new MethodwithReturn();

15 System.out.println("b");

16 int a = methodwithReturn.method();

17 System.out.println("c");

18 System.out.println(a); // System.out.println(“a”) T\ Z
19

20 }
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001 public class Dog {

002 public Dog(String name){

003 System.out.print("0");
004 }

005 public void walk({

006 System.out.print("1");
007

008 1}

011 public class Bird {

012 public Bird(){

013 System.out.print("2");
014 }

015 public void fly(){

016 System.out.print("3");
017

018 }

021 public class Main {

022 public static void main(string[] args) {
023 Dog dog = new Dog("&~F");
024 dog.walkQ);

025 System.out.println("a");
026

027 Bird bird = new Bird();
028 bird.fly(Q;

029 System.out.println("b");
030

031 1}
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001 public class SameVarName {
002 private int var;
003 public SameVarName(int var) {

004 System.out.print("z");
005 this.var = var;

006 }

007 public void multiply(int var) {
008 System.out.print("y");
009 this.var *= var;

010 }

011 public int calc() {

012 System.out.print("x");
013 int var = 2;

014 var += this.var;

015 return var;

016 }

017 public int getVar() {

018 System.out.print("w");
019 return var;

020 }

021 }

031 public class TestDrive04_7 {

SD: SameVarName )

X

main
[
L

032 public static void main(String[] args) {

033 int var = 2;

034 System.out.print("a");

035 SameVarName sameVarName1 = new SameVarName(var);
036 SameVarName sameVarName2 = new SameVarName(var*2);
037 System.out.printin("b");

038

039 sameVarName1.multiply(var);

040 sameVarName2.multiply(var);

041 var = sameVarName2.calc();

042 sameVarName2.multiply(var);

043 int var2 = sameVarName2.getVar();

044 System.out.printin("c");

045 System.out.printin(sameVarName1.calc());

046 System.out.printin(var);

047 System.out.printin(var2);

048 }

049 }
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001 public class Base {
002 private int x;
003
004 public Base(int x) {
005 this.x = x;
006 System.out.print("0");
007 }
008 public int methodA(int k) {
009 System.out.print("1");
010 return k*x;
011 }
012 public int methodB(int k) {
013 System.out.print("2");
014 int a = methodA(k);
015 System.out.print("3");
016 return a*x*2;
01 7 } . Base->u
018 } [SD: Base-Sub
i _m _@

021 public class Sub { . .
022 private int x; main i i
023 ! !
024 public Sub(int x) { i i
025 this.x = x; : :
026 System.out.print("3"); i |
027 } . ' ?
028 public int methodA() {
029 System.out.print("4");
030 return x*x;
031 }
032 public int methodB(int k) {
033 System.out.print("5");
034 return x*k;
035 }
036 }
041 public class Main {
042 public static void main(String[] args) {
043 Base base = new Base(3);
044 base.methodB(1);
045 System.out.printin("a");
046
047 Sub sub = new Sub(10);
048 sub.methodA();
049 sub.methodB(2);
050 System.out.printin("b");
051 }
052 }
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001 public class SequencePractice {

002 public SequencePractice1() {
003 System.out.print("0");
004 }
005 public void meet() {
006 System.out.print("1");
007 hello();
008 System.out.print("2");
009 }
010 public void hello() {
011 System.out.print("3");
012 SequencePractice2 sp = new SequencePractice2();
013 SyStem.OUt.print("‘l-"); SD: SequencePractice )
014 sp.talk();
015 System.out.print("5"); i - -
016 } main : :
017 public void bye() { n ! !
018 System.out.print("6"); l |
019 } | |
020 } | i
031 public class SequencePractice2 { E i
032 public SequencePractice2() { E i
033 System.out.print("y"); | |
034 } E i
035 public void talk() { : !
036 System.out.print("z"); : |
037 } | |
038 } | i
T | I
041 public class Main {
042 public static void main(String[] args) {
043 SequencePractice1 sp = new SequencePractice1();
044 sp.meet();
045 System.out.printin("a");
046 sp.bye();
047 System.out.printin("b");
048 }
049
050 }
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001 public class Armor {

002 private int dif;
003 SD: Character J
004 public Armor(int dif){
005 this.dif = dif; ﬁ\i
006 } Main - | | 2
007 public int hitDamage(int power){ | 3 :
008 int damage = power - (dif / 2 + 5); - ! :
009 return damage; 1 i
010 } | !
011 1 i
012 public int getDif(){ | |
013 return dif; | i
014 } 1 i
015 } i |
021 public class Character { | i
022 private String name; l i
023 private int HP; L] | :
024 private Armor armor; | i i
025 ! ! :
026 public Character(String name, int HP){ '
027 this.name = name;
028 this.HP = HP;
029 armor = new Armor(20);
030 }
031 public void hitDamage(int power){
032 int damage = armor.hitDamage(power);
033 HP -= damage;
034 }
035 public String getName(){
036 return name;
037 }
038 public int getHP(){
039 return HP;
040 }
041 }
051 public class Main {
052 public static void main(String argsl[]){
053 Character character = new Character("4—> X % 1 ", 100);
054 int power = 30;
055 System.out.printf("%s OEED HP X %d T, ¥n", character.getName(), character.getHP());
056
057 System.out.printf("%s LXK % < & 7=, ¥n", character.getName());
058 character.hitDamage(power);
059
060 System.out.printf("%s OEED HP X %d T, ¥n", character.getName(), character.getHP());
061
062 }
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001 public class Point {

002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018
019
020 }

private int x;
private int y;

public Point(int x, int y) {

this.x = x;
this.y = y;
System.out.print("x");
}
public void move(int x, int y) {
this.x +=x;
this.y +=y;
System.out.print("y");
}
public void move() {
x = 0;
y=0;
System.out.print("z");
}

031 public class CallingMethods2 {

032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054 }

private Point point1;

public CallingMethods2() {
point1 = new Point(1,1);
System.out.print("0");

}

public void processing() {
point1.move(1,2);
Point point2;
point2 = new Point(2,2);
point2.move();
System.out.print("1");

}

public void processing(int x, int y) {
Point point3;
point3 = new Point(x,y);
point1.move();
point3.move(x,y);
System.out.print("2");

}

061 public class Main {

062
063
064
065
066
067
068
069
070
071
072
073
074 )

public static void main(String[] args) {
CallingMethods2 cm = new CallingMethods2();
System.out.printin("a");
cm.processing(4,5);
System.out.printin("b");
Point point = new Point(3,3);
System.out.printin("c");
cm.processing();
System.out.printin("d");
point.move();
System.out.printin("e");
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001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016 }
017 }

021
022
023
024
025
026 }
027
028
029
030
031
032
033 }
034 )

041
042
043
044
045
046
047
048 }
049 }

}
public void dead(){

public class FE {
private Status magician;

public FE(){

public void statusProcessing(){

public class Status {
private int hp;
private int attack;

public Status(int hp, int attack) {

this.hp = hp;
this.attack = attack;

public void levelup(int hp,int attack) {

this.hp += hp;

this.attack += attack;

hp = 0;
attack = 0; e

magician = new Status(14,6);

magician.levelup(1,1);
Status knight;

knight = new Status(18,9);
knight.dead();

-1

public class Main06 {
public static void main(String[] args) {

FE felf = new FE();
felf.statusProcessing();

Status farmer = new Status(10,3);
farmer.dead();
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public class Status {
private String status;
public Status(String status) {
this.status = status;
}

public String getStatus() {
return this.status;

public void setStatus(String item) {
switch (item) { Il swith 3D 442012 String 237 S 415 O 1% Javal.7 LA
case "Default™
this.status = "5 O™,
break;
case "Mushroom":
if(status.equals("H ")) status = "2 —/—",
break;
case "FireFlower":
this.status ="7 7 1 7—";
break;
case "Feather":
this.status ="~ > k";
break;
default:
System.out.printin(item+" /X EFK TV EHFA");

}
}

public class Mario {
private Status status;
private String agentName;
public Mario(String name) { /1 this("H T, name); & E T Mario(String, String) %
INERH LT T o2& DT 52 &R0
status = new Status("H "),
agentName = name;

public Mario(String status, String name) {
this.status = new Status(status);
agentName = name;

public void giveltem(String item) {
status.setStatus(item);

}
public void checkStatus() {
System.out.printin(status.getStatus() + agentName + "C3™");
}
public void takeDamage() {
status.setStatus("Default");
}

}

public class Main {
public static void main(String[] args) {

Mario mario1 = new Mario("~ U #™");
Mario mario2 = new Mario(" A —/3X—", "< U F™");
mario1.checkStatus();
mario1.giveltem("Mushroom");
Mario luigi = new Mario("/L 1 —");
mario2.checkStatus();
luigi.giveltem("Feather");
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luigi.takeDamage();
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01  public class MethodOnly {
O01a public MethodOnly() {

01b }

02 public void method() {
03 System.out.print("1");
04 }

05 }
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